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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 37

{

A(P?) = 0.0002Q° - 0.0909Q + 22.446
R%=1

A(P?) = TE-05Q% + 0.0226Q]
R? = 0.9561

~A(P?) = 0.0754Q - 7.8362
R*=0.9088

=T n =T

300 400 500 600
Q, cc/min
| O D(P2) ==Poly. (D(P2)) =—Poly. (D(P2)) = Linear (D(P2)) = Linear (D(P2)) |

700

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 37

| O$ 105 (@)
\D 05]0% |
V4 ) S e } ‘
| A(P?)) =
0g10(
2
R“=0.9169
Z S 142
5 3
-
a D ]
- g 1
>
) 122 -
112 1
©
1 02 1 T I T al 0 T 1 T 1
2.30 2.35 2.40 2.45 2.50 2.55 2.60 2.65 2.70 2.75 2.80

1091¢(Q)

| 0 log(D(P2)) =Linear (log(D(P2))) |

2.85



woler| 1o "uiny

‘LO'Q\l 1a WY

A(P?)/Q, psia’/(cc/min)

Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 37

6.9E-02

sac02l  |IA(P?)/Q = 3E-05Q + 0.0401
| R?=0.3755

5.9E-02

5.4E-02 -
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4.4E-02 T . » . -

200 250 300 350 400 450 500 550 600 650
Q, cc/min

| 0 D(P2)/Q =—Linear (D(P2)/Q)
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 38

80

y = 0.0003Q° - 0.0986Q + 29.205
R* =1
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60 1-

50

y = 8E-05Q° + 0.0566Q
R? = 0.9497

40 {—
y =0.1043Q

A(P?), psia®

30 - | R (
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20 A
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R*=0.9107
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Q, cc/min
| O D(P2) ==Poly. (D(P2)) ==Poly. (D(P2)) == Linear (D(P2)) = Linear (D(P2)) |
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 38
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Final check for high-velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 38
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 39

45
01 A(P? = 0.0002Q% - 0.0711Q + 17.921
l 2 _
35 +— : : - | R - 1
920 30 - —{—
3
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15 s R SR
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| O D(P2) ===Poly. (D(P2)) ==Poly. (D(P2)) = Linear (D(P2)) = Linear (D(P2)) |

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 39
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 39

6.4E-02 1 ’ - : - " ‘ ‘ 0————7
A(P?)/Q = 4E-05Q + 0.0358| |
5.9E-02 {- — |
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 40

A(P?) = 0.0002Q% - 0.0927Q + 21.863
R’ = 1

A(P?) = 7TE-05Q% + 0.0211Q
R’ = 0.9491

’ A(P?) = 0.0593Q
R? = 0.862

A(P?) = 0.0726Q - 6.8883
R%=0.8973
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 40
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_ Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 40

6.8E-02 — ‘
| | | |
| APYH/Q=3E-05Q+00416

6.3E-02 -

R® = 0.3089

|

5.8E-02 -

L ETRERANLY

5.3E-02 1,

A(PHIQ, psia’/(cc/min)

4.8E-02 | f '
4.3E-02 | | _ | 1 1 |
200 250 300 350 400 450 500 550 600 650 700
Q, cc/min

| O D(P2)/Q ==Linear (D(P2)/Q) |

€l



%o‘&\\\o N

P
<
2
=

2.
o
N

A(P?), psia®

log1o(A(P?)

Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 41

55
50 - A(P?) = 0.0003Q% - 0.1264Q + 27.654
45 1
40 |
. .

%1 A(P?) = 8E-05Q° + 0.0224Q
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| O D(P2) =—Poly. (D(P2)) =——Poly. (D(P2)) — Linear (D(P2)) — Linear (D(P2)) |
| ! 1 ! ! ! !
Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
) D Transect: Drillhole 41
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Final check for high velocity flow effects:

High velocity flow effects are present when the slope is non-zero and positive.

D Transect : Drillhole 41
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 42
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 42
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_ . Final check for hiéh velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 42
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 43
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Log-Log plot of_differenti_al pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drilihole 43
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with'the ordinate interbept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 44
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 44
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. Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 44
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 45
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 45
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Final check for high velocity flow effects:

High velocity flow effects are present when the slope is non-zero and positive.

D Transect : Drillhole 45
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 46
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Log-Log plot of differential pressures squared vs. ﬂowrafe-used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 46
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 46
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 47
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
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| Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 48
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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| Final check for high velocity flow effects:
! High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 49
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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High velocity flow effects are presen ‘when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:

If relationship is linear, with the ordinate intercept nearly zero,

there is no high velocity flow effect.
D Transect: Drillhole 51
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high-velocity flow effects (when the slope is greater than unity) —
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 51
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
| high-velocity flow effects (when the slope is greater than unity)
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 53
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
f D Transect : Drillhole 53
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 54
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Log-Log plot of differential pressures squared vs. rowra.te--used to identif.y the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 54
‘ !
2.10 | ;l l E | 1 1 l |
! 1 | | | lo
ol logio(A(P?) = 0.9159l0g10(Q) - 06121 1=
| R?=0.9013 |
| | | I
1.90 I R R
r
N& 180 1T
2
e
o |
0 1.70
160 4
1.50W : |
| | | | | | | |
s ; ] I ‘ ‘ 2.75 2.80
2.60 2.65 2.70
2.25 2.30 2.35 2.40 2.45 2.50 2.55
10g410(Q)

1.7E-01

+- 1.6E-01

1.5E-01

1.4E-01

1.3E-01

A(P?)IQ, psia®/(cc/min)

1.2E-01

1.1E-01

[ 0 log(D(P2)) = Linear (log(D(P2))) |

D Transect : Drillhole 54

High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 55
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Final check for high velocity flow effects: -
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 55
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there is no high velocity flow effect.
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: Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 56
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 57
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Log-Log plot of'differential pressures squared vs. flowrate--used to identify the prese‘lvice of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drilihole 57
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Relatlonshlp between steady-cm differential pre ared
If relationship is linear, with the ordinate intercept nearly zero,
there is no highr velocity flow effect.
D Transect: Drillhole 58
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drilthole 58
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 59
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Final check for high velocity flow effects:

High velocity flow effects are present when the slope is non-zero and positive.

D Transect : Drillhole 59
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If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 60
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 60
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High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 61
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 61
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If relatibnship is Iia’, with the ordinate | eptéﬂy -
there is no high velocity flow effect.
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 62
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
, there is no high velocity flow effect.
. D Transect: Drillhole 63
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g-Log plot o;.d:ferentl_al pressures squared vs. flowrate--used to identify the presence of
igh-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow eiffects: 4 sositive
High velocity flow effects are present when the slope is non-zero and p
D Transect : Drillhole 63
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 64
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 64
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:

If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 65
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.

D Transect : Drillhole 65
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 66
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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| Final check for high velocity flow effects:
| High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 66
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 67
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 67
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Final check for high velocity flow effects:

High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 67
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.

D Transect: Drillhole 68
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 68
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 68
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